SCS[JH[ICH EER Jiwata TOHATSU

SCS[_TH[ _ISH BEAERY - AMR - PoIRIBAY
503

o

BN
- -!
#8 B Bt B SR

SGD3 | B | FAREREREIX

SUS303 - [BBRSUSXMT)IX

BT

M.B

\
oL
L£01]
SGD3 SUS303 A1 HE 4
5 % |BE| & % |E4&| MB L H D WX ¥ AL M

SCS08HO09CH A - M8x0.75 9 24 26 1.5 7 4 7 M4x10

- SCSO08HO09SH| ~ M8x%0.75 9 24 26 1.5 7 4 8.5 M4x10
SCS10HO09CH A - M10x0.75 9 27 29 1.5 9 4 8 M4x10

- SCS10HO09SH A M10x0.75 9 27 29 1.5 9 4 10 M4x10
SCS12H12CH A - M12x1 12 30 32 1.5 9.5 4.5 9 M5x14

= SCS12H12SH AN M12x1 12 30 32 1.5 9.5 4.5 11 M5x14
SCS15H14CH A - M15x1 14 36 39 2 12.5 5 105 M6X%15

- SCS15H14SH A M15x1 14 36 39 2 125 5 12 M6x15
SCS16H14CH A - M16x1 14 36 39 2 12.5 5 10.5 M6x15

- SCS16H14SH AN M16x1 14 36 39 2 12.5 5 12 M6x15
SCS20H14CH A - M20x1 14 41 44 2 15 6.5 13 M6x18

- SCS20H14SH A M20x1 14 41 44 2 15 6.5 15 M6%18
SCS25H14CH A |SCS25H14SH A M25x1.5 14 46 50 2 17 75 15 M6x20
SCS30H14CH| ~ [SCS30H14SH| ~ M30x1.5 14 50 54 2 19.5 8.5 18 M6x%20
SCS35H14CH| ~ [SCS35H14SH| ~ M35x1.5 14 55 60 2 22 10 20 M6x25

SCSO8H09CH



